
MATHS

BOOKS - S CHAND MATHS (ENGLISH)

COMPOUND AND MULTIPLE ANGLES

Example

1. Computer  from the functions of 

Watch Video Solution

sin 75∘ , cos 75∘ and tan 15∘ ,

30∘ and 45∘

2. If  are acute angles and  find the

values of 

Watch Video Solution

α and β sin α = , sin β = ,
3

5

8

17

sin(α + β), cos(α ± β), and tan(α ± β).

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PWxjg9cNM8Ov
https://dl.doubtnut.com/l/_pkqNl0tkhKPU


3. Prove that 

Watch Video Solution

sin(α + 30∘ ) = cos α + sin(α − 30∘ )

4. Prove that 

Watch Video Solution

sin(x + y)sin(x − y) + sin(y + z)sin(y − z) + sin(z + x)sin(z − x) = 0.

5. Find the value of 

Watch Video Solution

cos2 45∘ − sin2 15∘ .

6. Prove that tan 11 A tan 7A tan 4A = tan 11 A - tan 7A - tan 44.

Watch Video Solution

https://dl.doubtnut.com/l/_pkqNl0tkhKPU
https://dl.doubtnut.com/l/_14HngmcVsMsr
https://dl.doubtnut.com/l/_T7gAXVtePVPg
https://dl.doubtnut.com/l/_21Md8KnmpOt7
https://dl.doubtnut.com/l/_f5GzRmSugZFj
https://dl.doubtnut.com/l/_9NN6Cd9u7N7f


7. Prove that 

Watch Video Solution

= tan 56∘ .
cos 11∘ + sin 11∘

cos 11∘ − sin 11∘

8. If  find 

Watch Video Solution

sin(α + β) = , cos(α − β) = 0 < α < , 0 < β < ,
4

5

12

13

π

4

π

4

tan 2α.

9. Find the value of 

Watch Video Solution

sin 75∘ sin 15∘ .

10. Prove that 

Watch Video Solution

sin 20∘ sin 40∘ sin 80∘ = .
√3

8

https://dl.doubtnut.com/l/_9NN6Cd9u7N7f
https://dl.doubtnut.com/l/_Hz5NgTedk7By
https://dl.doubtnut.com/l/_KOo6Kxpbq47x
https://dl.doubtnut.com/l/_vsAo9CnONmJ1


11. Convert the followng into products: 

(i) 

Watch Video Solution

sin 53∘ + sin 21∘ , (ii)cos 83∘ − cos 17∘ , (iii)sin 50∘ − cos 80∘

12. Prove that 

Watch Video Solution

= tan A.
sin 7A − sin 5A

cos 5A + cos 7A

13. Prove that 

Watch Video Solution

= cos 2A − sin 2A tan 3A.
cos 3A + 2 cos 5A + cos 7A

cos A + 2 cos 3A + cos 5A

14. Prove that 

Watch Video Solution

= cot .
cos θ + cos 2θ + cos 3θ + cos 4θ

sin θ + sin 2θ + sin 3θ + sin 4θ

5θ

2

https://dl.doubtnut.com/l/_XJUgJ4cVCqUh
https://dl.doubtnut.com/l/_ppxoBQ99vdOf
https://dl.doubtnut.com/l/_0QCpW1wr4O0y
https://dl.doubtnut.com/l/_q45U6ypqC0Ik
https://dl.doubtnut.com/l/_Fo2zLxjNHgcX


15. 

Watch Video Solution

sin 10x = 2 sin 5x cos 5x

16. 

Watch Video Solution

cos 6x = cos2 3x − sin2 3x

17. 

Watch Video Solution

tan 8x =
2 tan 4x

1 − tan2 4x

18. Given that  and that A is an acute anlge, find without using

talbes, the values of  Hence find the value of

sin 4A.

Watch Video Solution

sin A =
3

5

sin 2A, cos 2A and tan 2A.

https://dl.doubtnut.com/l/_Fo2zLxjNHgcX
https://dl.doubtnut.com/l/_ZZ7SHKPkj7Yy
https://dl.doubtnut.com/l/_ltBMwYAmf2FR
https://dl.doubtnut.com/l/_TjtSCJaCeHGK
https://dl.doubtnut.com/l/_LZv3qkvdDiTp


19. Prove that 

 quad.

Watch Video Solution

√ = tan x, x ∈ I or III
1 − cos 2x

1 + cos 2x

20. Prove that 

Watch Video Solution

tan A − cot A = − 2 cot 2A

21. Prove that 

Watch Video Solution

= tan(45∘ + ),
cos A

1 − sin A

A

2

22. Prove that 

tan( + ) + tan( − ) = 2 sec θ.
π

4

θ

2

π

4

θ

2

https://dl.doubtnut.com/l/_LZv3qkvdDiTp
https://dl.doubtnut.com/l/_kO6XjkDOY632
https://dl.doubtnut.com/l/_PMN8rgGtT0PK
https://dl.doubtnut.com/l/_JJDMFaXqowpV


Watch Video Solution

23. Prove that 

Watch Video Solution

sin2( + ) − sin2( − ) = sin sin θ.
π

8

θ

2
π

8

θ

2
π

4

24. Prove that  where 

Watch Video Solution

√2 + √2 + √2 + 2 cos 8θ = 2 cos θ,

θ ∈ [ , ]
−π

8

π

8

25. If  show that .

Watch Video Solution

7A = π, cos A cos 2A cos 3A =
1

8

26. Prove that cos cos cos cos = .
π

9

2π

9

3π

9

4π

9

1

24

https://dl.doubtnut.com/l/_JJDMFaXqowpV
https://dl.doubtnut.com/l/_3PtGHsJKwVPe
https://dl.doubtnut.com/l/_FHm2WKRw74YX
https://dl.doubtnut.com/l/_ZCUzg4KGDoqN
https://dl.doubtnut.com/l/_YNxzDN9amerj


Watch Video Solution

27. Prove that 

Watch Video Solution

cos2 A + cos2(A + 120∘ ) + cos2(A − 120∘ ) =
3

2

28. Prove that 

Watch Video Solution

cos4 + cos4 + cos4 + cos4 =
π

8

3π

8

5π

8

7π

8

3
2

29. Prove that 

Watch Video Solution

cos θ cos 2θ cos 4θ…. cos 2n − 1θ = .
sin(2nθ)

2n(sin θ)

30. Prove that 16 cos5 θ − 20 cos3 θ + 5 cos θ = cos 5θ.

https://dl.doubtnut.com/l/_YNxzDN9amerj
https://dl.doubtnut.com/l/_gmrcBnha2K0V
https://dl.doubtnut.com/l/_BJ5O9LRwhElZ
https://dl.doubtnut.com/l/_cswjUkoQF41N
https://dl.doubtnut.com/l/_3LcOTO5ghg8y


Watch Video Solution

31. Prove that 

sin 3 A = 4 sin A sin (60° - A ) sin (60°+ A).

Watch Video Solution

32. Prove that 

Watch Video Solution

sin sin sin sin = .
π

9

2π

9

3π

9
4π

9

3

16

33. Prove that  


Hence deduce that

Watch Video Solution

cos θ + cos(120∘ + θ) + cos(120∘ − θ) = 0.

cos3 θ + cos3(120∘ + θ) + cos3(120∘ − θ) = cos 3θ.
3

4

https://dl.doubtnut.com/l/_3LcOTO5ghg8y
https://dl.doubtnut.com/l/_x1FXoTuGCJjX
https://dl.doubtnut.com/l/_43nFbe3ydEAA
https://dl.doubtnut.com/l/_Lvr0FuOmCEd7
https://dl.doubtnut.com/l/_T8SCuH6vJgCf


34. Find 

Watch Video Solution

cos .
7π

8

35. Using the value of  find the value of 

Watch Video Solution

cos 315∘ ,

sin 157
1

(2)
∘ and cos 157 ∘ .1

2

36. Find the value of 

Watch Video Solution

sin 22 ∘1
2

37. Find the value of 

Watch Video Solution

cos 22 ∘1
2

https://dl.doubtnut.com/l/_T8SCuH6vJgCf
https://dl.doubtnut.com/l/_hDNQwyuH1Hcb
https://dl.doubtnut.com/l/_rrfJLWPiKVvE
https://dl.doubtnut.com/l/_6gaH2hFhxWx5


38. Find the value of 

Watch Video Solution

tan 22 ∘1

2

39. Find the value of 

Watch Video Solution

sin 7 ∘1

2

40. Find the value of 

Watch Video Solution

cos 7 ∘1

2

41. Find the value of 

tan 11 ∘1

4

https://dl.doubtnut.com/l/_gDVyhNzAbn5g
https://dl.doubtnut.com/l/_StzFcnmB4H6M
https://dl.doubtnut.com/l/_fNnm0Acajvnr
https://dl.doubtnut.com/l/_9BY8LxnODxZT


Exercise 5 A

Watch Video Solution

42. Prove that 

Watch Video Solution

tan 7 = √2 − √3 − √4 + √6 = (√3 − √2)(√2 − 1).
1∘

2

43. Prove that 

Watch Video Solution

cot 7 = √2 + √3 + √4 + √6 = (√3 + √2)(√2 + 1).
1∘

2

1. Compute 

 from the functions 

Watch Video Solution

sin 15∘ 60∘ and 45∘

https://dl.doubtnut.com/l/_9BY8LxnODxZT
https://dl.doubtnut.com/l/_cLUQznyHLGAk
https://dl.doubtnut.com/l/_7HY7PQxOqphc
https://dl.doubtnut.com/l/_aKcknnIxlT1e


2. Compute 

 from the functions of 

Watch Video Solution

cos 345∘ 300∘ and 45∘

3. Compute 

 from the functions of 

Watch Video Solution

tan 105∘ 45∘ and 60∘

4. Compute 

 from the functions of 

Watch Video Solution

sin 135∘ 180∘ and 45∘

5. Compute 

 from the functions of cos 195∘ 150∘ and 45∘ ,

https://dl.doubtnut.com/l/_j7ghibngV1E9
https://dl.doubtnut.com/l/_3zB76Ehwg5Vs
https://dl.doubtnut.com/l/_ZjtAIRWq3jCb
https://dl.doubtnut.com/l/_ytaLoLtD7NV2


Watch Video Solution

6. Compute 

Watch Video Solution

cos ec(13π /12)

7. Simplify be reducing to a single term : 

Watch Video Solution

sin 3α cos 2α + cos 3α sin 2α.

8. Simplify be reducing to a single term : 

Watch Video Solution

cos 5θ cos 2θ − sin 5θ sin 2θ.

https://dl.doubtnut.com/l/_ytaLoLtD7NV2
https://dl.doubtnut.com/l/_BLYlMjHrtOgt
https://dl.doubtnut.com/l/_QzisbEbjrBmf
https://dl.doubtnut.com/l/_UPJm5eficToX


9. Simplify by reducing to a single term : 

Watch Video Solution

sin 22∘ cos 38∘ + cos 22∘ sin 38∘ .

10. Simplify be reducing to a single term : 

Watch Video Solution

sin 80∘ cos 20∘ − cos 80∘ sin 20∘ .

11. Simplify by reducing to a single term : 

Watch Video Solution

sin(x − y)cos x − cos(x − y)sin x.

12. Simplify be reducing to a single term : 

cos(θ + α)cos(θ − α) − sin(θ + α)sin(θ − α).

https://dl.doubtnut.com/l/_flId0oRM5O2B
https://dl.doubtnut.com/l/_zwP5Lfp9WJsC
https://dl.doubtnut.com/l/_UoHB74iUy0s3
https://dl.doubtnut.com/l/_ay4eJMWzuYGP


Watch Video Solution

13. Simplify be reducing to a single term : 

Watch Video Solution

tan 69∘ + tan 66∘

1 − tan 69∘ tan 66∘

14. Simplify be reducing to a single term : 

Watch Video Solution

tan α − tan(α − β)

1 + tan α tan(α − β)

15. Prove that

Watch Video Solution

(sin α cos β + cos α sin β)2 + (cos αcoaβ − sin α sin β)2 = 1.

https://dl.doubtnut.com/l/_ay4eJMWzuYGP
https://dl.doubtnut.com/l/_Mef3DHZHkeyB
https://dl.doubtnut.com/l/_ot78Sn26m8si
https://dl.doubtnut.com/l/_1Zb7qbB5zd87


16. 

Watch Video Solution

sin(60∘ + θ) − sin(60∘ − θ) = sin θ.

17. Prove that sin(θ+30°)+cos(θ+60°)= cos θ.

Watch Video Solution

18. 

Watch Video Solution

sin(240∘ + θ) + cos(330∘ + θ) = 0

19. 

Watch Video Solution

sin(A − 45∘ ) = (sin A − cos A)
1

√2

20. Prove that :cos( + x) =
π

3

cos x − √3 sin x

2

https://dl.doubtnut.com/l/_omZZchGLC9Qi
https://dl.doubtnut.com/l/_8dXW9lNDqF5O
https://dl.doubtnut.com/l/_ED4AdtiWs47y
https://dl.doubtnut.com/l/_L409EU3GH506
https://dl.doubtnut.com/l/_IINrU3p7bRaI


Watch Video Solution

21. Prove: 

Watch Video Solution

tan(45∘ + θ) =
1 + tan θ

1 − tan θ

22. Prove: 

Watch Video Solution

tan(45∘ − θ) =
1 − tan θ

1 + tan θ

23. 

Watch Video Solution

= cot θ tan ϕ + 1.
sin(θ + ϕ)

sin θ cos ϕ

24. 

Watch Video Solution

= cot ϕ − cot θ.
sin(θ − ϕ)

sin θ sin ϕ

https://dl.doubtnut.com/l/_IINrU3p7bRaI
https://dl.doubtnut.com/l/_yRczsHDMRwyM
https://dl.doubtnut.com/l/_4ffGUo37wz74
https://dl.doubtnut.com/l/_pXn7UMfADZim
https://dl.doubtnut.com/l/_gBY0UZfY1rF8


25. Prove that 

Watch Video Solution

+ + = 0
sin(A − B)

sin A sin B

sin(B − C)

sin B sin C

sin(C − A)

sin C sin A

26. Prove that: 

Watch Video Solution

sin 105∘ + cos 105∘ = cos 45∘

27. Find the value of  given 


 in Quadrant I.

Watch Video Solution

sin(α + β), cos(α + β), and tan(α + β),

sin α = , cos β = , α and β
3

5

5

13

28. Find the value of  given 


 in Quadrant II,  in Quadrant III.

Watch Video Solution

sin(α + β), cos(α + β), and tan(α + β),

cos α = , cot β = , α
−12

13
24

7
β

https://dl.doubtnut.com/l/_xeyFPXBCNraT
https://dl.doubtnut.com/l/_bEHRephrhT4j
https://dl.doubtnut.com/l/_z0PlXcwQFfLA
https://dl.doubtnut.com/l/_w4tQl81oT4XF
https://dl.doubtnut.com/l/_UcYPSp0zPOsd


29. Find the value of  given 


 in Quadrant I.

Watch Video Solution

sin(α − β), cos(α − β) and tan(α − β),

sin α = , tan β = , α and β
8

17

5

12

30. Find the value of  given 


 in Quadrant II,  in Quadrant I.

Watch Video Solution

sin(α − β), cos(α − β) and tan(α − β),

cos α = , cot β = , α
−12

13

24

7
β

31. If A and B are acute angles, find  given 


Watch Video Solution

(A + B)

sin A = , sin B =
1

√5

1

√10

32. If A and B are acute angles, find  given 
(A + B)

tan A = , tan B = .
5

6

1

11

https://dl.doubtnut.com/l/_UcYPSp0zPOsd
https://dl.doubtnut.com/l/_pYzctpgdu5TS
https://dl.doubtnut.com/l/_ymWqNieJ75QX
https://dl.doubtnut.com/l/_z08aijXEr0I5


Watch Video Solution

33. Given that  then what is the value

of 

Watch Video Solution

tan α = , tan β =
m

m + 1

1

2m + 1

α + β ?

34. In the  the foot of the perpendicular from A to BC is D. Given

that  that  calculate without

using tables 

(i) the lengths of the sides AC and BC, 

(ii) the value of sin A.

Watch Video Solution

ΔABC

tan B = , cos C = and
4
3

15

17
AB = 20cm,

35. Given that  and  find without

using tables the values of tan A and tan B.

Watch Video Solution

tan(A + B) = 1 tan(A − B) = ,
1

7

https://dl.doubtnut.com/l/_z08aijXEr0I5
https://dl.doubtnut.com/l/_3fw7QMkv41Fb
https://dl.doubtnut.com/l/_hVknAQQaXoqa
https://dl.doubtnut.com/l/_A4PwGbOIqtVJ


36. If  prove that 

and obtain an expression for  in terms of x. If 

 and A is acute, find A without using tables,

Watch Video Solution

tan(A + B) = x and tan B =
1

2
tan A =

2x − 1

x + 2

tan(A − B)

tan(A − B) =
1

3

37. If  being acute

angles prove that 

Watch Video Solution

sin(α + β) = , sin(α − β) = , α + β, α − β
4

5

5

13

tan 2α = .
63

16

38. Prove that 

Watch Video Solution

1 + tan 2θ tan θ = sec 2θ.

39. Show that 4 sin( − θ)sin( + θ) = 3 − 4 sin2 θ
π

3

π

3

https://dl.doubtnut.com/l/_A4PwGbOIqtVJ
https://dl.doubtnut.com/l/_DeNPrCYLxlFX
https://dl.doubtnut.com/l/_H7ueUcLZraBS
https://dl.doubtnut.com/l/_W7izqWMjJz4I
https://dl.doubtnut.com/l/_Y0uQPG0gEn4D


Watch Video Solution

40. 

Watch Video Solution

= tan 62∘cos 17∘ + sin 17∘

cos 17∘ − sin 17∘

41. 

Watch Video Solution

tan 3A − tan 2A − tan A = tan 3A tan 2A tan A.

42. 

Watch Video Solution

tan 75∘ − tan 30∘ − tan 75∘ tan 30∘ = 1.

43. Prove that

Watch Video Solution

cos 2θ cos 2ϕ + sin2(θ − ϕ) − sin2(θ + ϕ) = cos(2θ + 2ϕ).

https://dl.doubtnut.com/l/_Y0uQPG0gEn4D
https://dl.doubtnut.com/l/_tem24BNoKS27
https://dl.doubtnut.com/l/_cQezNmZATo3S
https://dl.doubtnut.com/l/_4GG5ax6tY58T
https://dl.doubtnut.com/l/_wJxI8Yg2nLPs


44. If  prove that 

Watch Video Solution

sin(θ + α) = cos(θ + α), tan θ =
1 − tan α

1 + tan α

45. Given that  prove that 


Watch Video Solution

A = B + C.

tan A − tan B − tan C = tan A tan B tan C.

46. If  show that 

Hence or otherwise, express  in surd form.

Watch Video Solution

A + B = 45∘ , tan A + tan B + tan A tan B = 1.

tan 22∘ 30'

47. Use the expansion of  to find  without the use of

tables, leaving your answer in surd form with an integral denominator.

W h Vid S l i

tan(A − B) tan 15∘

https://dl.doubtnut.com/l/_wJxI8Yg2nLPs
https://dl.doubtnut.com/l/_NzUF0HQPViZl
https://dl.doubtnut.com/l/_JMjfdK5sTYLN
https://dl.doubtnut.com/l/_8UXSMzGLqj2N
https://dl.doubtnut.com/l/_EXik9LykHo09


Exercise 5 B

Watch Video Solution

48. Prove that 

Watch Video Solution

= sin 2A.
2 tan A

1 + tan2 A

49. If  prove that 

Watch Video Solution

A + B = 225∘ , tan A + tan B = 1 − tan A tan B

1. Convert the products into sum or difference. 

Watch Video Solution

2sin 48∘ cos 12∘

https://dl.doubtnut.com/l/_EXik9LykHo09
https://dl.doubtnut.com/l/_7fwZ8Y8bsWC1
https://dl.doubtnut.com/l/_17fI3WVZvz2E
https://dl.doubtnut.com/l/_Eg5VOqqXKn8f


2. Convert the products into sum or difference. If angles are given in

degrees, evaluate from tables. 

Watch Video Solution

2sin 54∘ sin 66∘

3. Convert the products into sum or difference. If angles are given in

degrees, evaluate from tables. 

Watch Video Solution

2 cos 5θ cos 3θ

4. Convert the products into sum or difference. If angles are given in

degrees, evaluate from tables. 

Watch Video Solution

2cos 72∘ sin 56∘

https://dl.doubtnut.com/l/_QX3iP2YhTCFS
https://dl.doubtnut.com/l/_VGblMG8HYYOc
https://dl.doubtnut.com/l/_9wuKWSeWer4p
https://dl.doubtnut.com/l/_nJc57ak5fCbw


5. Convert the products into sum or difference. If angles are given in

degrees, evaluate from tables. 

Watch Video Solution

cos(α + β)cos(α − β)

6. Convert the products into sum or difference. If angles are given in

degrees, evaluate from tables. 

Watch Video Solution

sin cos
A + B

2

A − B

2

7. Convert the sums or differences into products: 

Watch Video Solution

sin 12A + sin 4A

https://dl.doubtnut.com/l/_nJc57ak5fCbw
https://dl.doubtnut.com/l/_UKu9j9PMGvqz
https://dl.doubtnut.com/l/_Q381Zz35zIZ6


8. Convert the sums or differences into products: 

Watch Video Solution

sin 37∘ + sin 21∘

9. Convert the sums or differences into products: 

Watch Video Solution

sin 12A − sin 4A

10. Convert the sums or differences into products: 

Watch Video Solution

cos 79∘ + cos 11∘

11. Convert the sums or differences into products: 

cos 12α + cos 8α

https://dl.doubtnut.com/l/_fN2yMUEVvIxM
https://dl.doubtnut.com/l/_tgE1ZhYvUBl3
https://dl.doubtnut.com/l/_bKmy9Lc9WW0v
https://dl.doubtnut.com/l/_fQ82j7uzOlWu


Watch Video Solution

12. Convert the sums or differences into products: 

Watch Video Solution

cos 25∘ − cos 37∘

13. Convert the sums or differences into products: 

Watch Video Solution

sin 61∘ − cos 39∘

14. Convert the sums or differences into products: 

Watch Video Solution

sin 4x + cos 2x

https://dl.doubtnut.com/l/_fQ82j7uzOlWu
https://dl.doubtnut.com/l/_FD0duEnPCPjo
https://dl.doubtnut.com/l/_sM2rKmCOfPTW
https://dl.doubtnut.com/l/_xzJ1QzcwlysZ


15. Prove that: 

Watch Video Solution

= tan( )
sin A + sin B

cos A + cos B

A + B

2

16. 

Watch Video Solution

=
sin 75∘ − sin 15∘

cos 75∘ + cos 15∘

1

√3

17. 

Watch Video Solution

= tan 5x.
sin 7x + sin 3x

cos 7x + cos 3x

18. 

Watch Video Solution

= tan(A − B).
cos 2B − cos 2A

sin 2A + sin 2B

https://dl.doubtnut.com/l/_jPlJNS0ICUI7
https://dl.doubtnut.com/l/_nAgwDgSmQJmC
https://dl.doubtnut.com/l/_iJuX09ngrVyX
https://dl.doubtnut.com/l/_hrva1yL1qsgL


19. 

Watch Video Solution

= tan(A + B)
sin(4A − 2B) + sin(4B − 2A)

cos(4A − 2B) + cos(4B − 2A)

20. 

Watch Video Solution

= cos 3α sec 5α.
cos α + 2 cos 3α + cos 5α

cos 3α + 2 cos 5α + cos 7α

21. 

Watch Video Solution

= tan 4A.
sin A + sin 3A + sin 5A + sin 7A

cos A + cos 3A + cos 5A + cos 7A

22. 

Watch Video Solution

cos 20∘ + cos 100∘ + cos 140∘ = 0

https://dl.doubtnut.com/l/_QfZn1JIaR9P4
https://dl.doubtnut.com/l/_ihyskE5TLzg5
https://dl.doubtnut.com/l/_AU9Q06Tq9Un6
https://dl.doubtnut.com/l/_VjTMknU2Wr2e


23. Prove that :

Watch Video Solution

sin 10∘ + sin 20∘ + sin 40∘ + sin 50∘ = sin 70∘ + sin 80∘ .

24. Prove that 

Watch Video Solution

cos 15∘ − sin 15∘ =
1

√2

25. Prove that 

Watch Video Solution

sin 36∘ + cos 36∘ = √2cos 9∘ .

26. Prove that 

Watch Video Solution

cos 20∘ cos 40∘ cos 80∘ = .
1

8

https://dl.doubtnut.com/l/_TGC9emWngvZi
https://dl.doubtnut.com/l/_vovH2o4MFgAK
https://dl.doubtnut.com/l/_9yB3XRrhqEes
https://dl.doubtnut.com/l/_5QAMH7n44VP9


27. 

Watch Video Solution

sin 10∘ sin 50∘ sin 70∘ = .
1

8

28. 

Watch Video Solution

4cos 12∘ cos 48∘ cos 72∘ = cos 36∘

29. 

Watch Video Solution

tan 20∘ tan 40∘ tan 80∘ = tan 60∘

30. 

Watch Video Solution

2 cos cos + cos + cos = 0.
π

13

9π

13

3π

13

5π

13

31. tan(A + 30∘ ) + cot(A − 30∘ ) = .
1

sin 2A − sin 60∘

https://dl.doubtnut.com/l/_XHi78mcP2R9Q
https://dl.doubtnut.com/l/_RfOZwMlKXnzT
https://dl.doubtnut.com/l/_uroiGzbHtQLW
https://dl.doubtnut.com/l/_0HeqAaPTHQmq
https://dl.doubtnut.com/l/_SY3Q872mSqqm


Watch Video Solution

32. 

Watch Video Solution

cos A + cos(120∘ − A) + cos(120∘ + A) = 0

33. 

Watch Video Solution

cos(A + B) + sin(A − B) = 2 sin(45∘ + A)cos(45∘ + B).

34. If  prove that 

Watch Video Solution

cos A + cos B = and sin A + sin B =
1

3

1

4

tan (A + B) = .
1

2

3

4

35. What is the value of 

Watch Video Solution

?
cos 10∘ + sin 20∘

cos 20∘ − sin 10∘

https://dl.doubtnut.com/l/_SY3Q872mSqqm
https://dl.doubtnut.com/l/_fWfuFLJfiKeu
https://dl.doubtnut.com/l/_63qyE7jKWTq4
https://dl.doubtnut.com/l/_FBtCES9QiObz
https://dl.doubtnut.com/l/_cSpjE8OPa8ei


Exercise 5 C

1. Evaluate : 

Watch Video Solution

2sin 15∘ cos 15∘

2. Evaluate : 

Watch Video Solution

1 − 2 sin2 22.5∘

3. Evaluate : 

Watch Video Solution

2 cos2 157.5∘ − 1

https://dl.doubtnut.com/l/_cSpjE8OPa8ei
https://dl.doubtnut.com/l/_zdA0jMporaIZ
https://dl.doubtnut.com/l/_U8n84My9assA
https://dl.doubtnut.com/l/_q1l5B9mdfhN9
https://dl.doubtnut.com/l/_p5ceJRCJYwMf


4. Evaluate : 

Watch Video Solution

cos2 − sin2π

12

π

12

5. Evaluate : 

Watch Video Solution

− sin21

2
7π

12

6. Evaluate : 

Watch Video Solution

cos sin
π

8

π

8

7. Evaluate : 

2 tan 22 1 ∘

2

1 − tan2 22 1 ∘

2

https://dl.doubtnut.com/l/_p5ceJRCJYwMf
https://dl.doubtnut.com/l/_1jh1jRWBNwy7
https://dl.doubtnut.com/l/_SyzPOfENrhQi
https://dl.doubtnut.com/l/_d5WY54znqoYS


Watch Video Solution

8. Evaluate : 

Watch Video Solution

8 cos3 − 6 cos
π

9

π

9

9. Find the values of  given : 


(i)  in Quadrant I. 

(ii)  in Quadrant II. 


(iii)  in Quadrant IV. 


(iv) in Quadrant II.

Watch Video Solution

sin 2θ, cos 2θ, and tan 2θ,

sin θ = , θ
3

5

sin θ = , θ
3

5

sin θ = − , θ
1

2

tan θ = − , θ
1

5

10. ABC is an acute-angled triangle incribed in a circle of radius 5 cm and

centre O . The sine of angle A is equal to  Calculate without using

tables : 

.
3

5

https://dl.doubtnut.com/l/_d5WY54znqoYS
https://dl.doubtnut.com/l/_MbjQhU1BUUUq
https://dl.doubtnut.com/l/_begyG8u0E8fs
https://dl.doubtnut.com/l/_q9DaUgzDzS7W


(i) the length of BC 

(ii) sin OBC 

(iii) sin BOC 

(iv) cos BOC

Watch Video Solution

11. Derive function of  from functions of  check by using

relations between functions of supplementary angles.

Watch Video Solution

120∘ 60∘ and

12. If  find an expression for  in terms of a

and b. Hence find a relation between a and b not involving 

Watch Video Solution

sin θ = a and sin 2θ = b, cos θ

θ.

https://dl.doubtnut.com/l/_q9DaUgzDzS7W
https://dl.doubtnut.com/l/_IOksHkZpUaH2
https://dl.doubtnut.com/l/_AEZY4XrMSRzI


13. Given that  find the values of tan 2 A, tan 4A and 

Watch Video Solution

tan A = .
1

5

tan(45∘ − 4A).

14. If A is an obtuse angle whose sine is  is an acute angle

whose tangent is  without using tables find the values of 


(a)  


(b)

Watch Video Solution

and B
5

13

,
3

4

sin 2B,

tan(A − B).

15. Express  in terms of .

Watch Video Solution

cos 6α cos 3α

16.  in terms of functions of sin 100 5θ,

https://dl.doubtnut.com/l/_4hDpA9lH7zzy
https://dl.doubtnut.com/l/_hoXSn8hyw7uM
https://dl.doubtnut.com/l/_6ww2wVpt9sAX
https://dl.doubtnut.com/l/_adYolPxGmVpX


Watch Video Solution

17.  in temrs of 

Watch Video Solution

write tan 8α tan 4α.

18.  in terms of 

Watch Video Solution

cos 2θ cos 4θ,

19.  in terms of 

Watch Video Solution

tan 4ϕ cos 8ϕ,

20. Express  in terms of 

Watch Video Solution

sin
5π

2
cos 5π,

https://dl.doubtnut.com/l/_adYolPxGmVpX
https://dl.doubtnut.com/l/_GUSp68jGUzhb
https://dl.doubtnut.com/l/_nF6aJOgWTkri
https://dl.doubtnut.com/l/_hYeRnYNlfjHr
https://dl.doubtnut.com/l/_PPKSzFVPeXz4
https://dl.doubtnut.com/l/_K0BGW7oEbXz6


21.  in terms of 

Watch Video Solution

cos 20θ sin 5θ.

22. Using the half angle formulas, find the exact value of

Watch Video Solution

(i)sin 15∘ (ii)sin 22 ∘ .
1

2

23. In the triangle ABC , in which C is the right angle, prove that : 

Watch Video Solution

sin 2A = , cos 2A = , sin = √ , cos = √ .
2ab

c2

b2 − a2

c2

A

2

c − b

2c

A

2

c + b

2c

24. If  find the value of  assuming 

 to be acute angles.

Watch Video Solution

cos α = , cos β = ,
3

5
4
5

cos( ),
α − β

2

α and β

https://dl.doubtnut.com/l/_K0BGW7oEbXz6
https://dl.doubtnut.com/l/_IcMbWjcCyA5w
https://dl.doubtnut.com/l/_Ea75iufTVzsG
https://dl.doubtnut.com/l/_38vHBSSlBnwX


25. Given that  calculate without the use of tubles, the

values of sin A , cos A and tan A.

Watch Video Solution

cos = ,
A

2

12

13

26. Given that  and the angles x and y are in

the same quadrants, calcualte without the use of tables the values of

Watch Video Solution

tan x = , cos y = ,
12

5

−3

5

(i)sin(x + y), (ii)cos .
y

2

27. Given that  show that 

Watch Video Solution

sin2 β = sin α cos α,

cos 2β = 2 cos2( + α)).
π

4

https://dl.doubtnut.com/l/_38vHBSSlBnwX
https://dl.doubtnut.com/l/_FkLGQBSv2BxS
https://dl.doubtnut.com/l/_K7mxpPy7TYns
https://dl.doubtnut.com/l/_zdyiA4VVwfKd


Exercise 5 D

28. Derive formulas for the following in terms of functions of  and

then of  

 


(ii)  


(iii) 

Watch Video Solution

2θ and

θ.

(i)sin 4θ

cos 4θ,

tan 4θ

29. If  find value of 

Watch Video Solution

sin α = ,
3

5
(i)sin 3α, (ii)cos 3α(iii)tan 3α.

30. If  prove that 

Watch Video Solution

2 cos θ = x + ,
1

x
2 cos 3θ = x3 + .

1

x3

https://dl.doubtnut.com/l/_bXrhpUlCt7qj
https://dl.doubtnut.com/l/_dRHxlFLn7Hm5
https://dl.doubtnut.com/l/_acDFxCBcNFOH
https://dl.doubtnut.com/l/_LYoOwpyl0ptr


1. Prove: 

Watch Video Solution

(sin ϕ − cos ϕ)2 = 1 − sin 2ϕ.

2. Prove that 

Watch Video Solution

(cos + sin )
2

= 1 + sin θ.
θ

2
θ

2

3. Prove: 

Watch Video Solution

(sin θ × tan ) = 2 sin2θ

2
θ

2

4. 

Watch Video Solution

= cos4 θ − sin4 θ.
1

sec 2θ

5. Prove: = 1 − tan2 α.
2

cot α tan 2α

https://dl.doubtnut.com/l/_LYoOwpyl0ptr
https://dl.doubtnut.com/l/_S035wl9xWsNz
https://dl.doubtnut.com/l/_LmCFiZmtiD24
https://dl.doubtnut.com/l/_vk1pyG8PReN3
https://dl.doubtnut.com/l/_TBwGwYtfTxCN


Watch Video Solution

6. Prove that


Watch Video Solution

= cot A
sin 2A

1 − cos 2A

7. Prove: 

Watch Video Solution

= tan A
sin 2A

1 + cos 2A

8. Prove that 

Watch Video Solution

− = 2
sin 3θ

sin θ

cos 3θ

cos θ

9. Prove that 

Watch Video Solution

= .
cos3 A − sin3 A

cos A − sin A

2 + sin 2A

2

https://dl.doubtnut.com/l/_TBwGwYtfTxCN
https://dl.doubtnut.com/l/_1U2JdHF08r7t
https://dl.doubtnut.com/l/_flLkLW5Lx2YL
https://dl.doubtnut.com/l/_NPDbcmgWF3CX
https://dl.doubtnut.com/l/_NAbH8WqDC9XV


10. Prove that 

Watch Video Solution

= tan θ.
1 − cos 2θ

sin 2θ

11. Prove that 

Watch Video Solution

cot α − tan α = 2 cot 2α.

12. Prove that 

Watch Video Solution

cos ecA − 2 cot 2A cos A = 2 sin A.

13. 

Watch Video Solution

= 2 cos x
1 + sin 2x + cos 2x

cos x + sin x

14. Show that '(1-cos 2x + sin x)/(sin 2x + cos x) = tan x'

https://dl.doubtnut.com/l/_4R5rQgmxdHzT
https://dl.doubtnut.com/l/_c0fCzNKhTGy7
https://dl.doubtnut.com/l/_64sdkhjGjhcL
https://dl.doubtnut.com/l/_bRT1mv5kQjs6
https://dl.doubtnut.com/l/_E0TyxhUbNnGx


Watch Video Solution

15. 

Watch Video Solution

= tan θ.
sin θ + sin 2θ

1 + cos θ + cos 2θ

16. 

Watch Video Solution

cot A = (cot − tan ).
1

2

A

2

A

2

17. 

Watch Video Solution

− = 2 tan 2A.
cos A + sin A

cos A − sin A

cos A − sin A

cos A + sin A

18. 

Watch Video Solution

= sec 2A − tan 2A.
cos A − sin A

cos A + sin A

https://dl.doubtnut.com/l/_E0TyxhUbNnGx
https://dl.doubtnut.com/l/_5Wp9DFR1VMDN
https://dl.doubtnut.com/l/_DK6hW3yyhKbv
https://dl.doubtnut.com/l/_YiRJslrvco6q
https://dl.doubtnut.com/l/_ceD3oZiEL7Vo


19. Prove that 

Watch Video Solution

. = tan
sin 2A

1 − cos 2A

1 − cos A

cos A

A

2

20. Prove that : 

Quadrant.

Watch Video Solution

2 cos A = √[2 + √2(1 + cos 4A)], A ∈ I or IV

21. belongs to I or IV Quad.

Watch Video Solution

tan 2A = (sec 2A + 1)√(sec2 A − 1), A

22. Prove that 

Watch Video Solution

= .
sec 8A − 1

sec 4A − 1

tan 8A

tan 2A

https://dl.doubtnut.com/l/_wtMYFzfnjMUS
https://dl.doubtnut.com/l/_xIje1u4PUDLq
https://dl.doubtnut.com/l/_rlTzGfygaDDz
https://dl.doubtnut.com/l/_2CznuePXLWmM


23. Prove that 

Watch Video Solution

tan 2A − sec A sin A = tan A sec 2A.

24. Prove that 

Watch Video Solution

(cos A + cos B)2 + (sin A + sin B)2 = 4 cos2( ).
A − B

2

25. Prove that 

Watch Video Solution

(cos A − cos B)2 + (sin A − sin B)2 = 4 sin2( ).
A − B

2

26. Prove that:

Watch Video Solution

cos4 + cos4 + sin4 + sin4 = .
π

8

3π

8

5π

8

7π

8

3

2

27. sin4 + sin4 + sin4 + sin4 = .
π

8

3π

8

5π

8

7π

8

3
2

https://dl.doubtnut.com/l/_3VGSnVLHiia7
https://dl.doubtnut.com/l/_AIsecGNhYzcE
https://dl.doubtnut.com/l/_RavV2V83uA2s
https://dl.doubtnut.com/l/_63RIZ7Wstdsg
https://dl.doubtnut.com/l/_a1hA6SjYqJhe


Watch Video Solution

28. 

Watch Video Solution

cos α cos(60∘ − α)cos(60∘ + α) = cos 3α.
1

4

29. 

Watch Video Solution

+ = 3.
cos3 α − cos 3α

cos α

sin3 α + sin 3α

sin α

30. 

Watch Video Solution

cos2 2θ − sin2 θ = cos θ. cos 3θ.

31. 

Watch Video Solution

1 + = .
cos 2θ + cos 6θ

cos 4θ

sin 3θ

sin θ

https://dl.doubtnut.com/l/_a1hA6SjYqJhe
https://dl.doubtnut.com/l/_gsp3cGx14gEF
https://dl.doubtnut.com/l/_Ozqc5h50V0to
https://dl.doubtnut.com/l/_ogte9wKA63Ro
https://dl.doubtnut.com/l/_RFvM5fR4mhRp


32. Prove that 

Watch Video Solution

cos3(x − ) + cos3 x + cos3(x + ) = cos 3x.
2π

3

2π

3

3

4

33. 

Watch Video Solution

− = 4.
1

sin 10∘

√3

cos 10∘

34. 

Watch Video Solution

tan 70∘ − tan 20∘ − 2tan 40∘ = 4tan 10∘ .

35. 

Watch Video Solution

tan θ + 2 tan 2θ + 4 tan 4θ + 8 cot 8θ = cot θ.

36. 4(cos3 20∘ + cos3 40∘ ) = 3(cos 20∘ + cos 40∘ )

https://dl.doubtnut.com/l/_G0tqzM4QiDmL
https://dl.doubtnut.com/l/_XsDWeuBcO78W
https://dl.doubtnut.com/l/_eQqs7Oa4w1ty
https://dl.doubtnut.com/l/_Q6Y7L7Phnxjq
https://dl.doubtnut.com/l/_6goch3y5X7ys


Watch Video Solution

37. Prove that 

Watch Video Solution

4(cos3 10∘ + sin3 20∘ ) = 3(cos 10∘ + sin 20∘ ).

38. Prove that 

Watch Video Solution

cos3 x sin2 x = (2 cos x − cos 3x − cos 5x).
1

16

39. 

Watch Video Solution

cot A + cot(60∘ + A) + cot(120∘ + A) = 3 cot 3A.

40. Prove that :


Watch Video Solution

cos 36∘ − sin 18∘ = .
1

2

https://dl.doubtnut.com/l/_6goch3y5X7ys
https://dl.doubtnut.com/l/_DABOONkdFlaq
https://dl.doubtnut.com/l/_Nq95N3Clgbkw
https://dl.doubtnut.com/l/_NwAAZbFxUeIY
https://dl.doubtnut.com/l/_uX2DdA1oEFgd
https://dl.doubtnut.com/l/_AgEtMTWN6RQ0


41. 

Watch Video Solution

cos2 36∘ + sin2 18∘ = .
3

4

42. 

Watch Video Solution

3cos 72∘ − 4 sin3 18∘ = cos 36∘ .

43. 

Watch Video Solution

cos2 48∘ − sin2 12∘ = .
√5 + 1

8

44. Prove that 

Watch Video Solution

sin π cos π = .
1

10

1

5

1

4

45. sec 72∘ − sec 36∘ = 2.

https://dl.doubtnut.com/l/_AgEtMTWN6RQ0
https://dl.doubtnut.com/l/_tFwmb4MilZWx
https://dl.doubtnut.com/l/_geH39fnh0gbE
https://dl.doubtnut.com/l/_ErMvgJ93HWu4
https://dl.doubtnut.com/l/_j9BkocNUPCCY


Watch Video Solution

46. 

Watch Video Solution

sin2 24∘ − sin2 6∘ = .
√5 − 1

8

47. 

Watch Video Solution

sin 12∘ sin 48∘ sin 54∘ = .
1

8

48. Prove that 

Watch Video Solution

4cos 6∘ cos 42∘ cos 66∘ cos 78∘ = .
1

4

49. 

Watch Video Solution

sin sin sin sin = .
π

5

2π

5
4π

5

3π

5

5

16

https://dl.doubtnut.com/l/_j9BkocNUPCCY
https://dl.doubtnut.com/l/_Iqv1ZFlnyR6f
https://dl.doubtnut.com/l/_z9Tnljqvc2dz
https://dl.doubtnut.com/l/_xQnQm56ASfC8
https://dl.doubtnut.com/l/_4KZwikuv9CJq


50. Prove that 

Watch Video Solution

cos cos cos cos = .
2π

15
4π

15

8π

15
14π

15

1

16

51. 

Watch Video Solution

cos2 + cos2 + cos2 + cos2 = 2
π

10

2π

5

3π

5

9π

10

52. 

Watch Video Solution

tan 6∘ tan 42∘ tan 66∘ tan 78∘ = 1

53.  if 

Watch Video Solution

cos α cos 2α cos 4α cos 8α = ,
1

16
α = 24∘

54. cos 12∘ cos 24∘ cos 36∘ cos 48∘ cos 72∘ cos 84∘ =
1

26

https://dl.doubtnut.com/l/_HNa9iXRYNMz1
https://dl.doubtnut.com/l/_jHCEwwy5YpuT
https://dl.doubtnut.com/l/_0QEAQmHUbtTH
https://dl.doubtnut.com/l/_kMQJYq67HJr7
https://dl.doubtnut.com/l/_GDBhddJFq7hT


Watch Video Solution

55. If  prove that 

Watch Video Solution

θ =
π

2n + 1
2n cos θ cos 2θcos 22θ…. cos 2n − 1θ = 1

56. If  are in G.P. then show that 

Watch Video Solution

tan , tan z, tan
x − y

2

x + y

2

cos x = cos y. cos 2z

57. If  is G.M. of  then prove that 

Watch Video Solution

sin θ sin ϕ and cos ϕ,

cos 2θ = 2 cos2( + ϕ).
π

4

https://dl.doubtnut.com/l/_GDBhddJFq7hT
https://dl.doubtnut.com/l/_q1TR1lMhasuf
https://dl.doubtnut.com/l/_4iL9nGQazjAT
https://dl.doubtnut.com/l/_5FcPGyrcyTMQ


Chepter Test

58. If  show that 

Watch Video Solution

m tan(θ − 30∘ ) = n tan(θ + 120∘ ),

cos 2θ = .
m + n

2(m − n)

59. If  then prove that 

Watch Video Solution

sin α = λ sin(θ − α)

tan(α − ) = tan .
θ

2

λ − 1

λ + 1

θ

2

60. If  Prove that 

Watch Video Solution

tan = √{ } tan ,
α

2

1 − e

1 + e

β

2
cos β = .

cos α − e

1 − e cos α

https://dl.doubtnut.com/l/_5LFxGWUAeUqF
https://dl.doubtnut.com/l/_OFnKy9FvGrQr
https://dl.doubtnut.com/l/_DmRqprS0RE5q


1. Show that  Hence deduce that 

Watch Video Solution

tan 75∘ = (√3) + = 2 + √3.
1

√3 − 1

tan 75∘ − cot 75∘ = 4sin 60∘ .

2. Prove that

Watch Video Solution

sin(n + 1)x sin(n + 2)x + cos(n + 1)x cos(n + 2)x = cos x

3. if  show that 

Watch Video Solution

A + B + C = π, and cos A = cos B cos C,

2 cot B cot C = 1.

4. Show that  given that 

Watch Video Solution

= 2,
sin(α + β)

sin(α + β)
tan α = 2 tan β.

https://dl.doubtnut.com/l/_w8tMgYHVSUlO
https://dl.doubtnut.com/l/_9MdGUhMYxKAb
https://dl.doubtnut.com/l/_Zk8OHce3CmDA
https://dl.doubtnut.com/l/_JmmJzssAX71H


5. Show that 

Watch Video Solution

= tan 55∘ .
cos 10∘ + sin 10∘

cos 10∘ − sin 10∘

6. If  find the value of 

Watch Video Solution

sin 2A = ,
4

5
tan A, (0∘ ≤ A ≤ )

π

3

7. Express  in terms of 

Watch Video Solution

cot A cos 2A

8. Write cos  in terms of 

Watch Video Solution

4θ cos θ.

https://dl.doubtnut.com/l/_JmmJzssAX71H
https://dl.doubtnut.com/l/_FCPumCQn9xWB
https://dl.doubtnut.com/l/_Cdtt4abEhLbh
https://dl.doubtnut.com/l/_MPUkUVhH1wuY
https://dl.doubtnut.com/l/_Ba2GfVnxK0CL


9. A positive acute angle is divided into two parts whose tangents are

 Show that the angle is 

Watch Video Solution

and .
1

2

1

3
.

π

4

10. Show that 

Watch Video Solution

cos 10∘ + cos 110∘ + cos 130∘ = 0

11. Show that 

Watch Video Solution

= .
sin 5A + 2 sin 8A + sin 11A

sin 8A + 2 sin 11A + sin 14A

sin 8A

sin 11A

12. Show that 

Watch Video Solution

− 2sin 70∘ = 1.
1

2sin 10∘

https://dl.doubtnut.com/l/_yL3v6sQVAM3P
https://dl.doubtnut.com/l/_G9BhZPmuczPo
https://dl.doubtnut.com/l/_jjC3ScirVE0E
https://dl.doubtnut.com/l/_F20ORbGnl6eA


13. Show that

Watch Video Solution

sin 19∘ + sin 41∘ + sin 83∘ = sin 23∘ + sin 37∘ + sin 79∘ .

14. If  find the value of 

Watch Video Solution

sin A = and sin B =
1

√3

1

√5

tan (A + B). cot (A − B).
1
2

1
2

15. If  show that 

.

Watch Video Solution

sin θ = n sin(θ + 2α),

(n − 1)tan(θ + α) + (n + 1)tan α = 0

16. If  are the roots of the equation 

 then find the value of 

tan and tan
α

2

β

2

8x2 − 26x + 15 = 0, cos(α + β).

https://dl.doubtnut.com/l/_8S5m00IOoE1X
https://dl.doubtnut.com/l/_saAsvLMbSHXm
https://dl.doubtnut.com/l/_lphuG7eEwLho
https://dl.doubtnut.com/l/_hDYE069Suo28


Watch Video Solution

17. Prove that

Watch Video Solution

( )
n

+ ( )
n

=
⎧
⎨⎩

2 cotn( ) ,if n is even.

0 ,if n is odd.

cos A + cos B

sin A − sin B

sin A + sin B

cos A − cos B

A − B

2

18. Find  in each of the case: 


 in II quadrant.

Watch Video Solution

sin , cos and tan
x

2
x

2
x

2

sin x = , x
1

4

19. Find  in each of the case: 


 x in II quadrant.

Watch Video Solution

sin , cos and tan
x

2
x

2
x

2

tan x = ,
−4

3

https://dl.doubtnut.com/l/_hDYE069Suo28
https://dl.doubtnut.com/l/_fO1Hd7DteDsZ
https://dl.doubtnut.com/l/_JZ6ijqpDJhI6
https://dl.doubtnut.com/l/_QbogZGLBLltV


20. Prove that 

Watch Video Solution

cos 6x = 32 cos6 x − 48 cos4 x + 18 cos2 x − 1.

21. Prove that 

Watch Video Solution

sin2 72∘ − sin2 60∘ = .
√5 − 1

8

22. If tan x, tan y, tan z are in G.P., show that 

Watch Video Solution

cos 2y = .
cos(x + z)

cos(x − z)

23. If tan  show that 

Watch Video Solution

: tan = 1: √3
α

2

β

2
cos β = .

2 cos α − 1

2 − cos α

https://dl.doubtnut.com/l/_WGvgP4wt99Mw
https://dl.doubtnut.com/l/_KOucOkpGQCdv
https://dl.doubtnut.com/l/_5YbTsC2HWX2s
https://dl.doubtnut.com/l/_kVNozGkjbNj2

